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Use your notes on Customary Measurements. Remember you have a
strategy to use. You may use a calculator.

1. If you have 17 quarts of soda, how many fluid ounces is this? Show
your work. Explain how you know. (50 points)

2. If you have 128 ounces, how many Tons is this? Show your work.
Explain how you know. (50 points)
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sing Estimation with Decimails

Solve the problems.

ﬂ Lori needs at least 12 liters of water to fill a water cooler. She has a container with 4.55 liters of
water, a container with 3.25 liters of water, and a container with 4.85 liters of water. Does she
have enough water? Use estimation only to decide. Explain why you are confident in your

estimate.

B Nia wants the total weight of her luggage to be no more than 50 kilograms. She has three
suitcases that weigh 15.8 kilograms, 17.42 kilograms, and 16.28 kilograms. Is the total weight
within the limit? Use only estimation to decide. Explain how you know your estimate gives you

the correct answer.

B Omar measures one machine part with length 4.392 centimeters and another part with length
6.82 centimeters. What is the difference in length? Use estimation to check your answer for

reasonableness.
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a Kyle wants to buy a hat for $5.75, a T-shirt for $7.65, and a keychain for $3.15. He has $16. Does
he have enough money? Use estimation only to decide. Explain why you are confident in your
estimate.

B ror his hiking club, Ricardo is making a container of trail mix with 3.5 kilograms of nuts. He has
1.78 kilograms of peanuts and 0.625 kilograms of almonds. The rest of the nuts will be cashews.
How many kilograms of cashews does he need? Use estimation to check your answer for
reasonableness.

(6] Suppose you want to be sure that the total cost of three items does not go over a certain
amount. How can you use estimation only to solve the problem?
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Solve the problems. Estimate to tell if your solution is reasonable. Show your work.

& Jim mails one package that weighs % pound and another that weighs % pound. What is the total
weight of both packages?

B3 Rosa needs 51 yards of ribbon for a crafts project. She already has 22 yards of ribbon. How
4 8

many more yards of ribbon does she need to buy?

B To make fruit punch, Tyrone needs 33 quarts of orange juice and 32 quarts of cranberry juice.
8 4

How many quarts of juice does he need in all?
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Estimating in Word Problems Name:

WITN Fraczions continuea

B Lin spent % hour on math homework and 1% hours on science homework. How many hours in

all did she spend on homework for both subjects?

B sandra rode her bike 9% miles on Monday and 62.'— miles on Tuesday. How many more miles did

she ride on Monday than on Tuesday?

B How can you make a high estimate for the sum of two fractions in a word problem?
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Solve each problem.

(1) Roger has 4 gallons of orange juice. He puts (2] Marta has 8 cubic feet of potting soil and
the same amount of juice into each of 3 flower pots. She wants to put the same

5 pitchers. How many gallons of orange amount of soil in each pot. How many cubic
juice are in 1 pitcher? feet of soil will she put in each flower pot?

E) Greg made 27 ounces of potato salad to @ chandra spends 15 minutes doing 4 math
serve to 10 guests at a picnic. If each serving problems. She spends the same amount of
is the same size, how much potato salad will time on each problem. How many minutes
each guest receive? does she spend on each problem?

B} Taylor has 5 yards of gold ribbon to decorate B Deshawn is using 7 yards of wire fencing

8 costumes for the school play. She plans to to make a play area for his puppy. He wants
use the same amount of ribbon for each to cut the fencing into 6 pieces of equal
costume. How many yards of ribbon will she length. How long will each piece of

use for each costume? fencing be?

What is a division word problem that can be represented by %?
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€D Draw a number line model to represent each multiplication problem. Then solve the problem.
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€3 Draw an area model to represent each multiplication problem. Then solve the problem.
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E) What type of model do you like best? Explain why.
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EB Draw a number line model to represent each multiplication problem. Then solve the problem.
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€3 Draw an area model to represent each multiplication problem. Then solve the problem.
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E) What type of model do you like best? Explain why.
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